

# Subtracting Twos

Instructions: Subtract two from each number.

$8 - 2 = \underline{\quad}$        $4 - 2 = \underline{\quad}$        $4 - 2 = \underline{\quad}$

$2 - 2 = \underline{\quad}$        $7 - 2 = \underline{\quad}$        $8 - 2 = \underline{\quad}$

$7 - 2 = \underline{\quad}$        $7 - 2 = \underline{\quad}$        $6 - 2 = \underline{\quad}$

$8 - 2 = \underline{\quad}$        $6 - 2 = \underline{\quad}$        $8 - 2 = \underline{\quad}$

$2 - 2 = \underline{\quad}$        $7 - 2 = \underline{\quad}$        $4 - 2 = \underline{\quad}$

$2 - 2 = \underline{\quad}$        $6 - 2 = \underline{\quad}$        $5 - 2 = \underline{\quad}$

$5 - 2 = \underline{\quad}$        $4 - 2 = \underline{\quad}$        $4 - 2 = \underline{\quad}$

## Subtracting Twos Answers

Instructions: Subtract two from each number.

$8 - 2 = \underline{6}$        $4 - 2 = \underline{2}$        $4 - 2 = \underline{2}$

$2 - 2 = \underline{0}$        $7 - 2 = \underline{5}$        $8 - 2 = \underline{6}$

$7 - 2 = \underline{5}$        $7 - 2 = \underline{5}$        $6 - 2 = \underline{4}$

$8 - 2 = \underline{6}$        $6 - 2 = \underline{4}$        $8 - 2 = \underline{6}$

$2 - 2 = \underline{0}$        $7 - 2 = \underline{5}$        $4 - 2 = \underline{2}$

$2 - 2 = \underline{0}$        $6 - 2 = \underline{4}$        $5 - 2 = \underline{3}$

$5 - 2 = \underline{3}$        $4 - 2 = \underline{2}$        $4 - 2 = \underline{2}$